DESIGNER | PATH LIGHT | M-PK

Replacement Parts

Lamp Replacement

ITEM DESCRIPTION CATALOG # ITEM DESCRIPTION CATALOG #
1 Housing - 10 1LED Board 1LEDULKIT*
2 Riser - 10 3LED Board 3LEDULKIT?
3 LED Housing - 10 ZDC LED Board ZDCKITM**
4 90° Socket - n 1LED Reflector 770000
5 Faceplate, M-PK MPKFPXX* n 3LED Reflector 770700
6 Lens, Symmetric 250028500000 1 ZDC LED Reflector 250022050000
7 Gasket 250028510000 13 1LED Color Filter, Amber 770100
8 Screw, #6-32 x %" 250028520000 13 1LED Color Filter, Blue 770101
9 Screw, #6-32 x 34" 250024710000 13 1LED Color Filter, Green 770102
10 LED Board See LED Chart 13 3LED Color Filter, Amber 770800
n Reflector See LED Chart 13 3LED Color Filter, Blue 770801
12 1LED Diffuser 770600 13 3LED Color Filter, Green 770802
12 3LED Diffuser 771300 **ZDC kit includes LED board, reflector (#11), screws (#14), and
13 Color Filter See LED Chart IIZOSilggfrgégl;efizgéﬁr?;ﬁjgzdd ZD to front of part number)
14 Screw, #4-40 x 38" 762400
15 Conduit Stake, 1" (32 mm) PVC MPL-COND-30
16 Setscrew, 14"-20 x 12" 250028060000 @

17 Screw, #6-32 x 34" 250030060000
18 Screw, #6-32 x 34" 250030050000 @ 5~
19 Deck Mount MPL-DM-XX* @ @
15,20  Kit with Stabilizer, 1" PVC CSKITMPL % ﬂ@

*XX = Powder-coat color code

FXLuminaire | +1760-591-7383 fxi.com

w () [Cp

NN \
\ 7

FXLIT-027 A 12/20



